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Section A
	1.
	Remainder = 5
	

	2.
	k = 5
	

	3.
	n = 35
	

	4.
	Distance AB = a
	

	5.
	EF = 5.4 cm
	

	6.
	θ = 600
	

		
	                          SECTION B
	

	7.
	m = 4, 5 or 8
	

	8.
	Common difference = 2ab. Hence, they are in AP.
	

	9.
	x – y = b – a
	

	10.
	Any point on the perpendicular bisector of a segment is equidistant from the two given points. 
   PA = PB        PA2 = PB2    (0 – 1)2 + (y – 5)2 = (0 – 4)2 + (y – 6)2
                                               y = 13  Hence point is P(0,13)
	

	11.
	P(xy is more than 16) = 6/16  = 3/8
	




		12.
	P(she loses the entry fee) = 1/8
P(just gets her entry fee) = 7/8
SECTION C
	

	13.
	Any positive odd integer can be written as a = 6q +1, a = 6q + 3 and  a = 6q + 5
a2 = (6q + 1)2 = 36q2 + 12q + 1 = 6(6q2 + 2q) + 1 = 6m + 1
a2 = (6q + 3)2 = 36q2 + 36q + 9 = 36q2 + 36q + 6 + 3 =  6(6q2 + 6q + 1) + 3 = 6m + 3
a2 = (6q + 5)2 = 36q2 + 60q + 25 = 36q2 + 60q + 24 + 1 = 6(6q2 + 10q + 4) + 1 = 6m + 1
	

	 14.
	

Two of the zeroes are: 2 +  and 2 –.
g(x) = x2 – 4x + 1
On dividing , we get  q(x) = x2 – 2x – 35   Hence the other two zeroes are: 7 , –5
	

	15.
	Let the required number be  10x + y
   10x + y = 6(x + y) +4                   4x – 5y = 4…………..(i)
    10x + y – 18 = 10y + x                             x – y = 2………………(ii) 
    Solving (i) & (ii), we get      x = 6, y = 4    Hence the number =64
	

	16.
	
[image: ]
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OR
Let B(2, p) divides segment joining A(–1, –1) and C(8, 11) in the ratio k : 1

     (2, p)   = 
  Solving, we get  k = ½    ratio = 1 : 2     and  p = 3



	

	17.
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OR
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	18.
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	19.
	
    2/3
                                       OR


L H S = sec2 θ –    = sec2 θ –    = sec2 θ – tan2 θ = 1

	

	20.
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	21.
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	22.
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              36      =  30 +       Hence,  Mode = 10
	




	Section D

		23.
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OR
x2 + 24 = (x + 1)2 – 25     Solving, we get      x  = 24

	

	24.
	   
[image: ] 
	

	25.
	Theorem













	

	26.
27. 
	Construction
[image: ]
	

	28.                                                                                                            
	                                                                                                                                        A              


tan θ =       tan φ = 




tan φ =       =       h = 3x/4




tan θ =      =                         D        θ                          φ   
            x = 300,  height = 225 m                                                                   C                             B                                              

	

	29.
	   Cylinder:  r = 15 m,  h = 5.5 m
   Cone:   r = 15 m,  h = 8.25 – 5.5 = 2.75 m
   Slant height  l2 = r2 + h2 = 152 + (2.75)2 = 7.5625 + 225 = 232.5625      l = 15.25 m
   Area of canvass = 2πrh + πrl  = πr(2h + l)  = 22/7 x 15(2x5.5 + 15.25) = 1237.5 m2
   Length of canvass  = 1237.5 ÷ 1.5  = 825 m
	




		30.
	
	

	
	
	Class intervals
	140 - 150
	150 - 160
	160 - 170
	170 - 180
	180 - 190
	190 – 200

	xi
	145
	155
	165
	175
	185
	195

	fi
	7
	f1
	20
	f2
	6
	2

	 ui
	-2
	-1
	0
	1
	2
	3

	fi ui
	-14
	- f1
	0
	f2
	12
	6



	

	
	
	

	
	Σ fi = 35 + f1 + f2 = 52        f1 + f2  = 17……………………….(i)
 Σ fi ui = 4 - f1 + f2  


  Mean =   =  a + 
	

	
	

       166  = 165 + 
	

	
	
	




	

                      1 =        f1 – f2   = – 3………………(ii)
                     Solving (i) & (ii), we get,    f1 = 7, f2 = 10
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Trigonometry

Mensuration

the points A (2, -2) and B (3, 7).
Solution: Let us assume the line divides AB in

k : 1 ratio.

Coordinates of point of division can be given as
follows:

2+ 3k
k+1
-2+7k
k+1

y=

Substituting the values of x and y in following
equation;
2x+y—-4=0

243k -2+7k
g,-,z( ) (;

2 )-4=0
K+l K+ 1

U.4+()k+(*2+7k)
"kH1 k+1 /)~

Or,4+6k—2+4+7k—-4(k+1)=0

Try 10 FREE
practice

problems!
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Arifmefi Or,4 46k —2+7k—4(k+1) =0

Or,4 + 6k — 2 + 7k — 4k —

0

Oor,-2+4+9% =0
or,9% =2
i 2
Trigonometry Ork = 5

Mensuration
Hence, the ratiois 2 : 9.

Question 2: Find the relation between x and
y if the points (x, y), (1, 2) and (7, 0) are
collinear. Get found with

Solution: If given points are collinear then Google advertising.

area of triangle formed by them must be

zero.
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To Prove: BD2 - CD2 = 2CD.AD
A

B c

Proof : In right triangle ABD,

ABZ = AD? + BD?

[Using Pythagoras theorem]

But AB=AC

= AC%=AD?+BD?

= (AD + DC)? = AD? + BD?

= AD? + DC? + 2AD.DC = AD? + BD?
= 2AD.DC = BD?-DC?
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\ ASK A QUESTION

Given: A circle touching the side BC of AABC at P and AB, AC produced at Q and R respectively.

View All
RTP: AP = 1/2 (Perimeter of AABC) Questions
Proof: Lengths of tangents drawn from an external point to a circle are equal.
= AQ=AR,BQ=BP,CP=CR.
Perimeter of AABC = AB + BC + CA Filters
= AB + (BP +PC) + (AR - CR)
= (AB +BQ) + (PC) + (AQ - PC) [AQ = AR, BQ = BP. CP = CR] X v
=AQ+AQ
=2aQ Maths v
= AQ = 1/2 (Perimeter of AABC) Chapter v

~ AQ is the half of the perimeter of AABC.
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Radius of tank =5 m, depth=2 m
Volume of water in 1 hr through pipe

=mr?h

=% 0.1% x 3000

=30mm?
Volume of tank
=nr2h

=mx52x2

=50m m*

Time taken to fill the tank = Volume of tank/Volume of waterin 1 hr

5o 1 hr 40 mi
=30g = L hr40min

C O | @ https;//www.sarthaks.in/5634/farmer-connects-internal-diameter-canal-into-cylindrical-tank-field-which-diameter-deep *

vy

=) —

VeSSET U T Oeep. 1T Tne CosTor
painting is at the rate of Rs 20 per
m2, find

The inner diameter of a cylindrical
wooden pipe is 24 cm and its outer
diameter is 28 cm. The length of
the pipe is 35 cm.

All categories
Science
Environmental Science
Mathematics
Commerce
Computer
Programming
Social Science
English

Hindi
Aptitude
Reasoning

GK.





image15.png
© Asolid gylinder of diame X

& C (0 | © https://www.topperlearning.com/live-chat-with-experts/mathematics/a-solid-cylinder-of-diamete-6181

Saturday, March 14,2015 at 10:26:AM

hi aleena,
volume of cylinder = 12 x volume of toy
ylinder = 12(volume of cone +volume of hemi

ere)

volum

nrlh = 12 [

xmxry?xh + T (radius of cone = radius of hemisphere)

3cm

height = 9cm

Monday, March 16,2015 at 18:41:PM





image16.png
. STATISTICS pdf - Adobe Acrobat Reader DC - X
File Edit View Window Help

Home Tools STATISTICS pdf % @ signin
B ERQ ®Q© o asoss [N @ O® w6 - ﬁ H e e g
274 MATHEMATICS ~
Mode = I+ [—fl;u)x 1
2fi=Jo = 12

Therefore, the mode of the data above 1s 3.286.

Example 6 : The marks distribution of 30 students in a mathematics examination are
given in Table 14.3 of Example 1. Find the mode of this data. Also compare and
interpret the mode and the mean.

Solution : Refer to Table 14.3 of Example 1. Since the maximum number of students
(1.e., 7) have got marks in the interval 40 - 55, the modal class is 40 - 55. Therefore,
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Let P be the pole to be erected and A, B be the opposite fixed gates.
Given, PA-PB=7

LetPA=2a,PB=b

Hencea-b=7

—a=7+b .(1)

In right APAB,

AB2 = AP2 + BP2 (By Pythagoras theorem)
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Therefore, b =5
—a=7+5=12
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